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"B @) (@) 21+35=58) ) 66+11=]77)

(€) 032+012=]0.44 (d) 158+2.11=(363)
(€) 426 +25=[676 (1) 163+036=]1.89
() (o) 62-01=] &1 (b) 158-0.13=1.5
(€) 044 -0.03=]041 (dy 266-126=]142
(e) 599-350=|247) (f) 848-2.02=[646)
@) (o) 100%25=250) {b) 041 =100=[ 41

(<) 0123 =1000=123) {d) 1.080 = 1000 =

(1080)

() 1000 x 2.3 = 2300 (f) 1000 x 0.055 = 55
(&) (e} 457 +100=[457) (b) 333+ 100=[333]
() 667 + 1000 =|0.667 (d) 1028 + 1000 = 1028

() 5399+ 1000=5.399 ] () 8401 + 1000 = 2.401 |
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187 1.7 + 83 10
87 + 13 10
77 + 23 10
55 + 45 10
6.2 + ER ] 10
98 + 0.2 10
99 + 0.1 10
29 + Ll 10
X + 49 10
48 + 53 10
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W add 1o find the totol distance.
Let's estirndate the total distance [nd, Eo one decimal place,
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The arewer is EH58 10 the estimate. 3o, it is Feasonable

%0, Podma jogs o total distance of 394 ken

Wi mulqﬂy o find the toknl thickness.
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%o, the total thickness of the B dictionaries is 342 cm

Wa mdr_lp]r 1z find the total coat of fish baught.
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5o the totol cost of the fish bought is $78.30
e  subtroct | o find the change received.
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